EnergyCell RE High Capacity OutFack

T POWER'
Specifications for 24V Systems member of The el Group™

ﬁii.‘ Specifications Ah Capacity to 1.75VPC @ 25°C
O | -] Shelf Life (@ 25°0) A 347
§ (17 14V Short Circuit: 4728  Maximum Charge: 148.75 555
% (NGO X4l Terminal Torque: 83in-lbs  Hardware: M8 bolt, lock and flat washer 600
% V'ETC1L 3-year full replacement (pre-approval required for warranty on international deployment) 672
E DTSN PN OTO N 34.81x27.41x23.50 / 884.2 X 696.2 X 596.9 676
(EATTTA(IG) Racks: 182/82.6  Batteries: 1169/530.2  Total System: 1351/612.8 810

Specifications Ah Capacity to 1.75VPC @ 25°C
o Shelf Life (@ 25°C) [RTaLY 195
§ ({1 4V Short Circuit: 6748 Maximum Charge: 212.5 790
% (G NG IT Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 864
\é V'E1(cT'M 3-year full replacement (pre-approval required for warranty on international deployment) 960
E DI ELH O PRUNOXnT) 34.81x37.15% 23.50 / 884.2 X 943.6 X 596.9 984
- UEGJUVLG)N Racks:231/104.8  Batteries: 1704/773.0  Total System: 1935/877.7 1150

Specifications Ah Capacity to 1.75VPC @ 25°C
'!'.oa' Shelf Life (@ 25°C) (TN 575
8 (T 1YW Short Circuit: 7722  Maximum Charge: 250 920
% TG RG] IY4E Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 1008
% VEN(cLe'M 3-year full replacement (pre-approval required for warranty on international deployment) 1148
E DI SN MR OO 34.81%37.15% 26.25/ 884.2 X 943.6 X 666.8 1176
- UETL(VIG)M Racks:241/109.3  Batteries: 1961/889.5 Total System: 2202 /998.8 1340

Specifications Ah Capacity to 1.75VPC @ 25°C
'!'.og‘ Shelf Life (@ 25°0) [RRtnes 690
8 (T 14V Short Circuit: 9267  Maximum Charge: 300 1105
% [ (G4l Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 1208
A léf:_ £ \é VEIC1 3-year full replacement (pre-approval required for warranty on international deployment) 1378
ggi E DT O POl 43.44%33.32%26.25/1103.4x 846.3 x 666.8 1416
- TV C)N Racks:272/123.4  Batteries: 2305/1045.5  Total System: 2577 /1168.9 1600

Specifications Ah Capacity to 1.75VPC @ 25°C
= Shelf Life (@25°0) [I0NGD 836
§ ({1 {4V Short Circuit: 12411  Maximum Charge: 375 1390
% (G NG Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 1512
% V'E1(c L'l 3-year full replacement (pre-approval required for warranty on international deployment) 1716
E DTSN BUNOIOT N 41.92x44.37 x 27.46 /1064.8 X 1127.0 X 697.5 1776
- UL NA(WIG)N Racks:278/126.1  Batteries: 2995/1358.5  Total System: 3273 /1484.6 2070

Specifications Ah Capacity to 1.75VPC @ 25°C
o Shelf Life (@ 25°) (L) 920
§ (d1T{ (1 {4(YW ShortCircuit: 12337 Maximum Charge: 400 1470
% (TG RG] T4 Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 1616
%‘ V'EN(cTg'M 3-year full replacement (pre-approval required for warranty on international deployment) 1836
E DI SO PN OX Tl 34.81x 5515 26.25 / 884.2 x 1400.8 X 666.8 1872
- GG JUIG)N Racks:320/145.15  Batteries: 3076/1395.25  Total System: 3396/ 1540.4 2140

Specifications Ah Capacity to 1.75VPC @ 25°C
E Shelf Life (@ 25°C) [Rqatae 1182
E (T 14N Short Circuit: 16548  Maximum Charge: 500 1850
% NG NG I Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 2016
% VEN(cTe'M 3-year full replacement (pre-approval required for warranty on international deployment) 2288
E T EL OIS PROOT M 41.92 % 56.37 x 27.46 / 1064.8 x 1431.8 X 697.5 2352
. L EC (T C)M Racks:333/151.0 Batteries: 3844/1743.6  Total System: 4177 /1894.7 2770

OutBack Power | 17825 59th Ave NE, Suite B | Arlington, WA 98223 USA | Tel: +1(360) 435-6030 | Fax:+1(360) 435-6019 | www.outbackpower.com (09/2014)



EnergyCell RE High Capacity OutFack

T POWER'
Specifications for 48V Systems member of The el Group™

o

Ah Capacity to 1.75VPC @ 25°C
347

Specifications

Shelf Life (@ 25°C) EJuiuY

1

E
o L
E
9
r

-
imppn2 4

555

(17 14V Short Circuit: 4728  Maximum Charge: 148.75

G
i
o rs
=
on

[ N4l Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 600

672

V'ETC1L 3-year full replacement (pre-approval required for warranty on international deployment)

:‘i"igusi‘ilgsli!ﬁ -
o]
oo
7Y Nt Y Ml 1Y i P

DSOS BUNOIO N 43.44 % 39.40 % 23.50 /11034 x 1000.8 x 596.9 676

Ll
('
S
(=)
(-]
v
J
>N
(=)
=
v
=
Ll

T

810

(VAT Racks:284/128.8  Batteries: 2338/1060.5  Total System: 2622 /1189.3

Ah Capacity to 1.75VPC @ 25°C
495

Specifications

Shelf Life (@ 25°C) [ulduuy

({1 4V Short Circuit: 6748 Maximum Charge: 212.5 790

(G NG IT Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 864

V'E1(cT'M 3-year full replacement (pre-approval required for warranty on international deployment) 960

IO PATRORO M 60.70x 37.15%23.50 / 1541.8 % 943.6 X 596.9 984

EnergyCell 1100RE

UGG JUVIG)N Racks:389/176.4  Batteries: 3408 /1545.8  Total System: 3797 /1722.3 1150

Ah Capacity to 1.75VPC @ 25°C
575

Specifications

Shelf Life (@ 25°C) uluu

(T 1YW Short Circuit: 7722  Maximum Charge: 250 920

TG RG] IY4E Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 1008

VEN(cLe'M 3-year full replacement (pre-approval required for warranty on international deployment) 1148

IO PUNOXOE 60.70 x 37.15 % 26.25 / 1541.8 X 943.6 X 666.8 176

EnergyCell 1300RE

VELL(VIO)M Racks:408/185.1 Batteries:3922/1779.0 Total System: 4330 /1964.1 1340

® 0O . . .
_E . Specifications Ah Capacity to 1.75VPC @ 25°C
o 51 C S | ome T
A E E=aas & o r~ Shelf Life (@ 25°C) Euuul 690
OOO = .@a@ o
e 3 [CAOR Short Circuit: 9267 Maximum Charge: 300 1105
L= o 9. -—
°p L°g Pede — [N (G LG [T Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 1208
Le 9.Pese. 7]
XY X P <o
: = ==t Oi Oi 3 VEIC1 3-year full replacement (pre-approval required for warranty on international deployment) 1378
¢ Lot Dete. =
(XN LK~ Y - DTG LDl 77.96 X 3332 26.25/ 1980.2 X 846.32 X 666.8 1416
T 5
LX) o
o.e=o LT O)M Racks:472/214.1 Batteries: 4610/2091.1  Total System: 5082 / 2305.2 1600
9 Y

Ah Capacity to 1.75VPC @ 25°C
886

Specifications

Shelf Life (@ 25°C) LU

({1 {4V Short Circuit: 12411  Maximum Charge: 375 1390

(G LG [T Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 1512

V'E1(c L'l 3-year full replacement (pre-approval required for warranty on international deployment) 1716

1776

DTSN BUNOIOI N 74.92 x 44.37 x 27.46 /1903.0 x 1127.0 X 697.5

EnergyCell 2000RE

U E(WIG)R Racks:474/215.0  Batteries: 5990/2717.0  Total System: 6464 /2932.0 2070

Ah Capacity to 1.75VPC @ 25°C
920

Specifications

Shelf Life (@ 25°C) Uity

(d1T{ (1 {4(YW ShortCircuit: 12337 Maximum Charge: 400 1470

(TG RG] T4 Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 1616

1836

V'EN(cTg'M 3-year full replacement (pre-approval required for warranty on international deployment)

IO PATROIO 60.70x 55.15% 26.25 / 1541.8 x 1400.8 X 666.8 1872

EnergyCell 2200RE

UEEJUVLG)N Racks:556/252.2  Batteries: 6151/2790.0  Total System: 6707 /3042.2 2140

Ah Capacity to 1.75VPC @ 25°C
1182

Specifications

Shelf Life (@ 25°C) EJuliluY

N DI (T VB Short Circuit: 16548  Maximum Charge: 500 1850

L ETOATE CA(IEGE NGOG  Terminal Torque: 88in-lbs  Hardware: M8 bolt, lock and flat washer 2016

VEN(cTe'M 3-year full replacement (pre-approval required for warranty on international deployment) 2288

SO BONOIO N 74.92 % 56.37 x 27.46 /1903.0x 1431.8 X 697.5 2352

EnergyCell 2700RE

ATV Racks:579/262.6  Batteries: 7687 /3486.8  Total System: 8266 /3749.4 2710

OutBack Power | 17825 59th Ave NE, Suite B | Arlington, WA 98223 USA | Tel: +1(360) 435-6030 | Fax:+1(360)435-6019 | www.outbackpower.com (09/2014)



